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SIMPLIFICATION – ASSIGNMENT  

 
 

1. Simplify: 
2 2(893 786) (893 786)

(893 786)

  


 

RUf;Ff: 
2 2(893 786) (893 786)

(893 786)

  


 

a. 4   b. 5   c. 6   d. 3 
 

2. 
3 3 3( ) ( ) ( )

9( ) ( ) ( )

a b b c c a

a b b c c a

    

  
= ?  

a. 1    b. 
1

3
   c. 

1

9
   d. 0 

 

3. x = 2.414 then the value of  
2

1x
x

  

x = 2.414  vdpy;  
2

1x
x

  d; kjpg;G  

a. 2   b. 2    c. 4   d. 8  
 

4. 2x + 3y = 14; xy = 3 then the value of 4x2 + 9y2 is  
2x + 3y = 14; xy = 3  vdpy; 4x2 + 9y2 d; kjpg;G  
a. 120   b. 140   c. 160   d. 180  
 

5. 
3 3(13) (7)

169 49 x



 
= 20; then the value of x 

3 3(13) (7)

169 49 x



 
=20; vdpy; xd; kjpg;G  

a. 6   b. 20   c. 91   d. 42  
 

6. 3  = 1.732 and 2  = 1.414 then the value of 
1

3 2
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3  = 1.732  kw;Wk; 2  = 1.414  vdpy; 
1

3 2
 d; kjpg;G  

a. 0.064   b. 0.308  c. 0.318  d. 2.146 
 

7. If a2 + b2 = 117 and ab = 54; find the value of 
a b

a b




 

a2 + b2 = 117  kw;Wk; ab = 54 vdpy; 
a b

a b




 d; kjpg;G  

a. 6   b. 4   c. 5   d. 2 
 

8. 
2 2

(35 35) (15 15)

25 10

  


= ?  

a. 1700   b. 725  c. 80  d. 2  
 

9. 
25

1 1
144 12

x
   then x = ?  

25
1 1

144 12

x
   vdpy; x = ?  

a. x = 0   b. x = 1  c. x = 2  d. x = 3 
 

10.  x + y = 2a then the value of 
a a

x a y a


 
 

x + y = 2a  vdpy; 
a a

x a y a


 
d; kjpg;G  

a. 2   b. 0   c. -1   d. 1 
 

11. 2p + 3q = 18; 2p – q = 2 then 2p + q = ?  
2p + 3q = 18 kw;Wk; 2p – q = 2  vdpy; 2p + q d; kjpg;G  
a. 6   b. 7   c. 10   d. 20 
 

12.  2n  = 64 then find the value of n 

2n  = 64 vdpy; nd; kjpg;ig fhz;. 
a. 2   b. 4   c. 6   d. 12  
 

13. x = 3 + 2 2  then find the value of 
1

x
x

 
 

 
 

x = 3 + 2 2 , vdpy; 
1

x
x

 
 

 
 d; kjpg;G  

a. 1   b. 2   c. 2 2   d. 3 3  
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14. 
1

2 3 5 
 +

1

2 3 5 
= ? 

a. 0   b. 1   c. 2    d. 1
2

  

 
15. 3.5 ÷ (0.7 of 7) + 0.5 × 0.3 – 0.1 =  

a. 
109

130
  b. 

107

140
   c. 

110

137
  d. 

106

141
 

 
16. the cube root of 0.027 is  

0.027 d; fd %yk;  
a. 0.3    b. 0.03   c. 09   d. 0.09  
 

17. The value of 
1

1
1x

 
  

 
1

1
2x

 
  

 
1

1
3x

 
  

 
1

1
4x

 
  

 is  

1
1

1x

 
  

 
1

1
2x

 
  

 
1

1
3x

 
  

 
1

1
4x

 
    ,jd; kjpg;G  

a. 
1

1
5x




  b. 
1

5x 
  c. 

5

1

x

x




  d. 

1

5

x

x




 

 

18. If 
1

2p
p

 
 

 
 = 4; the value of 3

3

1

8
p

p

 
 

 
 is  

1
2p

p

 
 

 
 = 4; vdpy; 3

3

1

8
p

p

 
 

 
- d; kjpg;G 

a. 4   b. 5  c. 9   d. 15 
 

19. simplify : 5 3 + 18 3  - 2 3  

RUf;Ff: 5 3 + 18 3  - 2 3  

a. 15 3   b. 21 3   c. 25 3   d. 11 3  
 

20. 1.6  expressed as a fraction is  

1.6  I gpd;dkhf vOJf.  

a. 
16

10
   b. 

16

9
   c. 

5

3
   d. 

4

8  
 

21. 
1 1 1 1 1

9 8 8 7 7 6 6 5 5 4
   

    
=  ? 

a. 0   b. 5   c. 
1

3
   d. 1 

 

22. simplify : 
3 3

9 1
4 40

   
    
   
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RUf;Ff: 
3 3

9 1
4 40

   
    
   

 

a. 
3

9
43

  b. 
9

3
43

  c. 
9

3
43

   d. 
3

9
43

  

 

23. 
5

481  = ?  
a. 43046721  b. 332   c. 243   d. 415  
 

24. 1 3x
x

  , then 5
5

1x
x

  is equal to.  

1 3x
x

   vdpy; 5
5

1x
x

  f;F rkkhdJ.  

a. 123   b. 83   c. 92  d. 112 
 

25. If  3
4

a
b
  and 8a + 5b = 22, then the value of a is 

3
4

a
b
  kw;Wk; 8a + 5b = 22 vdpy; a d; kjpg;G  

a. 3
2

  b. 3
4

  c. 5
7

   d. 7
9

 

 
 
 

SIMPLIFICATION ASSIGNMENT ANSWER KEY 
 

 

1 2 3 4 5 6 7 8 9 10 

A B C C C C C D B B 

11 12 13 14 15 16 17 18 19 20 

C D B D B A C B B C 

21 22 23 24 25 26 27 28 29 30 

B D C A A      

 


